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Drawing graphs of equations 8 as 4
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Slope Formula

Example #3

Complete the table for y=0
Term to term for X

Slope

=

ARK NS [N S R
NS T G B e e i o
- .WQ - .w, qw -~ qe $—d 0. -
’ { _ |
’ | " ’ '
a0 e e 4 . » » 4
{ : :
] ]
]I.«-...r - @. . 4 4 . -
i S S !
\ ' | |
S Sl B B dinobrened ‘ 4
| 3 | ] 1
! R — G R B
—t s > - e 4 ol ater § v
R %2 | o
|} ] 5
S e (e = [ —
B e A g
—d i e e ilu_ -G
3 : i :
| 3 1 5 1 |
. e ] 4
w i

-
1
® s

. L 1

—

PRCH Lm0,
{ i

b
l.li h —-Br e o. * f FON— S— .
4 : ] !
: l_ R SR (R S SR
S S — .»s?o‘. + " — | St 2

' .
B Rl
- ﬂ * .”'. -w.'lul.‘ e 4.* - ﬂ .0
-;L.......tw, -.rx..v N T .
| . " ..
4 105 s v.’n P . .
: |
l'lW — lvh!l-\‘ﬂ L | -
[ | i
R ﬁ !.P % M. - * .v Q

_ ..:
,--._1

- ‘,,...
"1"" Mg o
.
|
-




Equations of the form y=mx+b

ot on
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y-1ntercept
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Example #1
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a) Graph y=5x @with slope and y-intercept
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Example #2
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10x 0
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What would be the y-intercept?

Y=10.
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Example #3

A) Graph
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B) Write the equation for the graph:

C) Show that (g:g,a;) is not on 4he live.



Example #4

A) Graph
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D) What is y, when x=77
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Tre Widport of e seopperth 89,01

Midpoint Formula

Mid-point Formula

XH1X, it
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Example #1:
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A(14)andB(52]
XYy
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Example #2: /"
] ((1 S)andD(B -3)
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P (10,4) and Q (-4, -6)
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,ﬁ. The diagonals

Segments in Shapes
Example #1: £ % Vi .
A parallelogram has vertices at P (2, 5).Q (fﬁ, ,R(Z,-1)and S (
are PR and QS. Are the diagonal midpoints the same length?

Example #2: e X2V, A\ Vi
A quadrilateral has vertices at (- 2 1) %(0,4), (5, 2), and (1, -{). Do the diagonals have
the same midpoint? Justify.

/‘DfO('M%(ample #3: A square has vertices at A (2,3), B (3,-1),C(-1,-2),and D (-2,2)
The diagonals are AC and BD, Do they have the same midpoint?
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